Index Card Area—Scalene Trapezoids
Here are four ways to calculate the area of a trapezoid—A,B,C,D





Try constructing and calculating the areas of these trapezoids all 4 ways:
1. averaging  the bases

2. big parallelogram
3. cutting away the triangles
4. dividing it into two triangles


utting away the triangles





A trapezoid = (average of the bases) * height


A trapezoid = ½ (b1 + b2) * height


A trapezoid = ½ (5 + 1) * 3


A trapezoid =  ½ (6) * 3 = 3 * 3 = 9 square units


 


A trapezoid = 9 square units











area of trapezoid = area of little Δ + area of big Δ 





area of little Δ = bh/2 = (1*3)/2 = 3/2 square units


area of big Δ = bh/2 = (5*3)/2 = 15/2 square units





area of trapezoid = 3/2 + 15/2 = 18/2 





area of trapezoid = 9 square units
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area of the colored trapezoid = ½ of the big parallelogram





So, the area of the colored trapezoid = ½ (b1 + b2) * h 





b1 = 1


b2  = 5 





area of trapezoid = ½ (1 +5) * 3 = ½ (6) * 3 = 3 * 3 





area of trapezoid = 9 square units
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veraging the bases





area of trapezoid = index card – (left Δ+ right Δ) 





area of index card = 15 square units


area of left Δ = 3/2 square units


area of right Δ = 9/2 square units





area of trapezoid = 15 – (3/2 + 9/2)


area of trapezoid = 15 – (12/2) = 15 – 6





area of trapezoid = 9 square units





ig parallelogram





ividing it into two triangles
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